SAP ABAP table HRFPM S JOB ACC ASS {Structure for Optimizing Packages}

HRFPM_S_JOB_ACC_ASS-KOSTL = CSKS-KOSTL _
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0-N_HRFPM_S_JOB_ACC ASS-GSBER = TGSB-GSBER 1.N
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CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

TOO1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

T5D7C

MANDT [CLNT (3)]

DAKAT [CHAR (2)]

DART [CHAR (2)]

ENDDA [DATS (8)]

T5D7E

MANDT [CLNT (3)]

DAKAT [CHAR (2)]

DART [CHAR (2)]

UDART [CHAR (2)]

ENDDA [DATS (8)]

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

TKAO1

MANDT [CLNT (3)]

KOKRS [CHAR (4)]




